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QUESTION 1

An administrator has been tasked with removing a secondary datacenter from vRealize Automation Center. After
removing the secondary datacenter from the locations file, the administrator notices that it still appears on the Confirm
Machine Request page.

What additional step must the administrator perform to completely remove the secondary datacenter?

A. Remove the Data Name from the WebSite\XmIData\DataCenterLocations.xml file.

B. Edit any compute resources associated with the secondary datacenter and reset the location to zero.

C. Remove the CustomDataType from the WebSite\XmIData\DataCenterLocations.xml file.

D. Edit any compute resources associated with the secondary datacenter and reset the location to blank.

Correct Answer: A

QUESTION 2

Refer to the Exhibit.
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While building an application blueprint, the administrator cannot add a vPostgres database service to the new operating
system, as shown in the exhibit.

What is needed to resolve this?

A. Drag and drop vPostgres from the Services menu onto the new operating system.

B. Delete the current operating system and deploy a new Database Server that includes vPostgres.

C. Drag and drop a vPostgres Application Component to join the existing operating systemand vPostgres objects.
D. Add an External Service Instance Profile to the Deployment Environment.

Correct Answer: A

QUESTION 3

What is required for a tenant to manage an item in vRealize Automation that was created by a vRealize Orchestrator
workflow?

A. A provisioned resource

B. A resource mapping

C. A resource action

D. A published service blueprint

Correct Answer: A

QUESTION 4

Which three are valid infrastructure costs that can be configured by editing Cost Drivers in vRealize Business Standard?
(Choose three.)

A. Operating System Licensing

B. Storage (per GB)

C. Network (per switch)

D. Hardware Maintenance (per month)
E. Memory (per GB)

Correct Answer: ABD

QUESTION 5

An administrator is troubleshooting laaS components in a vRealize Automation deployment.
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Which two steps outline the process for generating a log bundle for these components? (Choose two.)
A. Open the vRealize Appliance management console.

B. Navigate to VRA Settings > Logs and click Create support bundle.

C. Run the SupportBundleUtil.exe file.

D. Select each component to collect log files and/or configuration files.

Correct Answer: CD
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